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1 AR A € aboutx=0 &7 %)% 2 (Taylor series) (10 4°)
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3. WRMT 9 — P ¥R T X (10 %)
y'+4y=20 with p(0)=2

4. KRBT 5| — Py IE 4L 8 M 5 F 82 K, (Bernoulli Equation) (10 4%).
xy'=3y+x'y* =0 with y(1)=1

5. KT 3IMEaa K 2045) |
Y'=5y"+8y' —4y=0 with y(0)=0, y'(0)=1,y"(0)=~1
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do 3C, . _ 2G-Dg
di 202G +1)d (2G +1)
Ko GRRDILE  dBRDRE > C,H0DHRBRAGY g AT ik
B o BRI » t BAFE o R E: 1=0 o0)=0 5 &IMEMF 1o
B o M TR @, = JHG - Dgd I (3C,) » 3E TG Do ik B o) M kB =
846 < (20 4v)

7. KRBT 7] — B R 2K (20 5)

2 -
2—?— 3-‘5’52‘1 =0  with B.Cs.: w(0,¢) = u(2,¢) =0 and L.C.: u(x,0) = 2sin(37x)
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